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OZEFOtHI 339,840,000% *1/12%120% 33,984
QA2 &HH|
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(ORGERES 19,020
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OHA A 155,000& »7H »12& 13,020
S2& olAHYl XA 828,688 822,259 6,429
101 1A dl 828,688 822,259 6,429
03 RIAHAZZRE > 828,688 822,259 6,429
outdu 130,314
OJles 1,773,130 x3H x 12& 63,833
(OF o=, 63,833,000& 1/12*33] 15,959
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OFEs=E 2,880




N R
HHSAAY (MBNLA P
0121 2 gyl

SA BB O () - NRAY - HES 0l &+ o4 il
-t < Xt 40,0003 x3Y 128 1,440
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OAzteIZ22Y 12,7062 x3H+5A| 2+ x12F 2,288
OgtrestsE 67,7683 x3H 152 3,050
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OMARE & HHARA 698,374
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OFSE=E =y 345,277,000& *1/12 28,774
OnEe 7,680
—bi < Xt 40,000 x 128 128 5,760
IS 20,0003 x8H 128 1,920
OAZIIZR2Y 12,2042 x10H+5A| 2+ x 123 7,323
Ogrszitsg 65,0883 17 152 16,598
OFgz2e=g 97,6323 x7H 60 41,006
OZEFOtHI 345,277,000& *1/12 28,774
O=4t| 130,000 *17H 128 26,520
Oul SH| 80,0003 x17Y 128 16,320
O ZE=sul 20,0003 x9H 60 10,800
OHARL3UUHEEE)
524,204,760 x15.83% 82,982
Jl=34l 159,255 164,255
2M29 JI=22Z 4l 71,635 76,635
201 L2l 35,035 35,0835
01 At 22| 32,520 33,035
ORM2Y AL Byl 32,520
02 2322l 2,515 2,000
ORM2YE 3329l 2,515
202 oddl 18,000 18,000
01 = LH o4 1l 18,000 18,000
ORA2Y =UAHH 18,000
203 R =&l 11,400 11,400
01 J22F PR =8 3,000 3,000
O*E 3,000,000& 3,000
02 FAIMH 2= 1,200 1,200
OFRItet 3 40,000& *30H 1,200
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A & 0l & AFSE E Al A
20178 & S0l& LB H JIEISESH M4SHEATR SR
SM MENLARE SEXE
FM: AEDE )= L (S2)
Sl TR FYHA 2 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
N RE S2XH 2,988,449 2,952,600 35,849
2 427,114
Xl 655,543
= 1,905,792
AFUEIIE L (SR) 2,189,625 2,135,930 53,695
2 427,114
X 655,543
< 1,106,968
ERY ZIMA 25 1,614,841 1,469,906 144,935
= 392,922
Xl 565,543
= 656,376
MESTHA PE YL 29(21) 14,770 23,070 8,300
= 5,908
= 8,862
201 B2 Ayl 14,770 23,070 £8,300
= 5,908
< 8,862
01 At 22l 10,770 19,070 A8,300
OMQI & St EHI(10X) 1,950
= 780
< 1,170
OMSZAl ASZHAIAE SalH (40H) 520
=2 208
= 312
OMEASIAIE SXI2clHl(671) 8,300
= 3,320
< 4,980
02 =224l 4,000 4,000 0
O/MEZAIStHEH KX 24l (30H) 4,000
= 1,600
< 2,400
Zg(=21) 35,001 74,334 A 39,333
= 17,501
< 17,500
401 AIEHI L 2 CHYI 35,001 74,334 A 39,333
= 17,501
< 17,500
01 A& HI 33,122 71,544 A 38,422
O2UR 3 X8 (3ha) 33,122
= 16,561
< 16,561
02 Zeldl 1,500 2,120 A 620
O2 L2 =& (3ha) 1,500
= 750
< 750
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03 AlE 2 THHI 379 670 A 291
O2 Lt 2 =& (3ha) 379
= 190
< 189

FMOIRI(=2 D) 538,883 386,660 152,223
= 269,442
< 269,441

401 AlEHI R 2 OHYI 538,883 386, 660 152,223
= 269,442
< 269,441

01 A& HI 516,488 371,104 145,384
©=Jt3J1(302ha) 516,488
= 258,244
= 258,244

02 Zteldl 19,000 12,772 6,228
©=Jt3I|(302ha) 19,000
= 9,500
< 9,500

03 Al 2 THHI 3,395 2,784 611
©= I3 71 (302ha) 3,395
= 1,698
< 1,697

S 3 A IIRI(Z D) 154,650 142,400 12,250
= 78,638
< 76,012

101 @14 dl 142,863 128,958 13,905
= 71,431
< 71,432

04 JIZEHZ22XRHEE S 142,863 128,958 13,905
OXMEHIOIQIIA AT S 21244 (9Y) 142,863
= 71,431
< 71,432

201 Yur2 Y| 9,160 8,160 1,000
2 4,580
< 4,580

01 At 22l 3,448 2,448 1,000
O&EB0IQIA=EH 5 2| 3,448
= 1,724
< 1,724

02 =224l 5,712 5,712 0
OB A=EE & S329Hl 5,712
= 2,856
< 2,856

301 et a = 2,627 5,282 A2,655
= 2,627
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Q&ZEHIOIQIA+EH S NFEHYI 2,627
= 2,627
ddE SR (=) 27,805 41,723 213,918
2 21,433
= 6,372
401 AIEHIZ S CHYI 27,805 41,723 13,918
= 21,433
= 6,372
01 Al&HI 27,505 41,273 13,768
O&YEIel LR =AH(30ha) 27,505
= 21,202
S 6,303
03 AlE 2 THHI 300 450 A 150
Os%E0el LS = AH(30ha) 300
= 231
£ 69
=Zxd2e(22) 93,850 93,000 850
Xl 46,925
= 46,925
401 Al HI L 2 THHI 93,850 93,000 850
Al 46,925
= 46,925
01 Al&HI 93,230 92,160 1,070
O=2Z =422l (3km) 93,230
X 46,615
< 46,615
03 Al€ 2 i bl 620 840 A 220
O=Z Zd2el(3km) 620
X 310
= 310
A=A (2D) 740,882 699,719 41,163
Al 518,618
= 222,264
101 @124 8] 15,600 15,600 0
Al 10,920
= 4,680
04 DIt 22 XS+ 15,600 15,600 0
oY el (2Y) 15,600
X 10,920
< 4,680
401 AIEHI 2L 2 0H Y] 725,282 684, 119 41,163
X 507,698
£ 217,584
01 A€ dl 705,866 668,616 37,250
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© & 2 & (1km) 130,760

Xl 91,532

& 39,228

© I 2F(2km) 128,341
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© U 2 2= (3km) 9,336

Xl 6,535

= 2,801
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O T ALY 22/l 15,437

Xl 10,806
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SA: AR
HE: AgDst)l
24

2 & He(s=)
Ee: WEHLAMEH =2 2Y (&)
SA - BB B () - MM - BES Ol &t o San HmEET
01 =8l 1,500 1,500 0
o4 & 2RE 22X 1,500
207 RO 1,500 1,000 500
03 A& & 22l 1,500 1,000 500
OSAHH A AlE XHIH 1,500
ME2HESLN2Y 28,000 24,100 3,900
201 et 22,000 22,600 A 600
01 At 22l 7,000 7,500 A 500
OMEZsHEs N 24235 ¢ 7,000
02 =224l 11,000 11,100 A 100
OtEZstNEsn B3R 11,000
03 A2 S HI 4,000 4,000 0
OME&#HA 2t 4,000
206 T 2 bl 1,000 1,500 A 500
01 = tl 1,000 1,500 A 500
OfRz M8z Mg 7Y 1,000
301 YerE A3 5,000 0 5,000
09 &AL HIB &S 5,000 0 5,000
O=HME IMZ 5,000
429 U HSAXH(2D) 100,000 200,000 £100,000
Xl 50,000
< 50,000
401 AIEHIZL 20HEI 100,000 200,000 100,000
Xl 50,000
< 50,000
01 A& HI 99,300 198,600 299,300
== B2Md 99,300
Xl 49,650
< 49,650
03 A& S THHI 700 1,400 A700
O==3 2BaMmd 700
X 350
< 350
HSEHAMSHEH2SHME SR 29 118,000 135,000 A 17,000
101 el24dl 11,000 24,000 213,000
04 JIZHHNZ22XNSE+ 11,000 24,000 A 13,000
OUEMEHZIME X JIZHZ 2R 2 11,000
201 L2l 85,000 70,000 15,000
01 At 22l 35,000 20,000 15,000
OHMEHRX 23 & 88 22 7 13,400




2N
X ZH -
L= B

el

SN HB .S (3H) - NBEAY - B ofl &k o San HDE2
O AAAE L SHOIX FAEF 9,600
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02 3524l 50,000 50,000 0
OMEHX 4 & Z32= 50,000
202 04d| 3,000 3,000 0
01 2LHOHI 3,000 3,000 0
OMEANAE As L 22|29 bl 3,000
206 M = Hl 12,000 25,000 A 13,000
01 X2t 12,000 25,000 A 13,000
OMESX HEZ AN 9,000
OMENs 7+ 3,000
401 Al HIL 201 3,000 0 3,000
01 Al&HI 3,000 0 3,000
0=J AL &x 3,000
405 Ko SHI 4,000 13,000 29,000
01 A&t = S F S 4,000 13,000 A 9,000
OMEA JI7 & JHEI|II| F¢ 4,000
Ueed x4(=21) 50,000 50,000 0
Xl 40,000
& 10,000
101 2121 4| 12,000 30,000 A 18,000
Xl 9,600
< 2,400
04 JIZtHIZ22XNSE S 12,000 30,000 A 18,000
ouR2d 29 JI2HM 22X (1Y) 12,000
Xl 9,600
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206 T2 HI 5,000 8,000 ~3,000
% 4,000
o= 1,000
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Xl 4,000
& 1,000
401 Al HI YL 2 0HHI 33,000 0 33,000
Xl 26,400
& 6,600
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O304 ¥ EHHE X4 S 33,000
Xl 26,400
= 6,600
HAL dE2] 92,500 79,000 13,500
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B NSRRI (MYNLAPY SEXH)
& o 2d| (&)
SA - BB B () - MM - BES Ol &t o San HmEET
-10-154 01 2+ 60,0003 x3YH 128 2,160
-5-10& 01 8¢ 50,0003 x2H 128 1,200
ORI 2,398,700& x4 1% 128 1,181
OfE2R+H(838) 40,0003 x 18 +128 480
OS#+X22=<(SX) 40,0002 *8H 128 3,840
OE=+=g2+8 5,040
=328+ 4,080
55014 50,0003 x1&H «128 600
6-7= 01 &f 30,0003 x2H 128 720
8= 0l ot 20,000 »4H » 128 960
J=ZEG A2 (1A
30,000 x5H » 128 1,800
- R 80,000& x1H «12& 960
OAZII 222 10,3022 *25A1 2t +x8H x 12& 24,725
OF MG A 130,000 8 »12& 12,480
OZ & F Il 291,597,000 = 1/12%120% 29,160
OS2 &l 6,966
OSEHM 291,597,000 «1/12+86%*1/30% 102 6,966
02 JIEtE B = 76,770 76,510 260
OHAMHEESH 76,770
OoJlzs 50,936
=0 2,122,300 »2H x12& 50,936
Oa0= 4,245
-d32s 50,935,200& x1/12 4,245
OP == 1,440
-t < Xt 40,0003 x2H 128 960
-2 A= 20,0003 x2H 128 480
OS#+XN22=Z(SX) 40,0002 *2H 128 960
OS+ge4+y 840
JlsdE2+4(83) 20,0003 x2H « 128 480
JIEEEGIHZ(I1AH
30,0003 x1H «12& 360
OAMZZ2 R 8,663 2 «25A1 2++ 128 5,198
O&FHZ Al 130,000 x2H x12& 3,120
OZEFOtHI 50,935,200% *1/12%120% 5,094
OEItE &t HI
50,935,200 x1/12%86%*1/30% 102 1,217
O&AZEXH| 105,000& »2H 128 2,520
Oouggstl 50,0003 x2H 128 1,200
204 MR AH| 13,620 14,460 A B840
02 22 =4l 13,620 14,460 A 840
O eHA 11,760
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0O8-92 105,000& x4 «12& 5,040
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01 S LHOIYI 9,900 9,900 0
ORME2E =U0bI 9,900
203 YR =&l 3,400 3,400 0
02 AP 2= 400 400 0
OFAJtatY R =& | 40,000& x10H 400
04 EASIYRFLH| 3,000 3,000 0
©1521 Ol ot 250,000& 1228 3,000
204 AR HH| 1,800 1,800 0
01 ¥R A 1,800 1,800 0
OXN&E 150,000& «12& 1,800
gxa 29 58,480 58,480 0
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